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1. 379 GaNT A 3T9ea # T T 77 3Ta-olseT 3¢T & YR W 319! il adierr & e smafya
e 1o &1 AR e A o Reelt gyerer B oo SfAfSe Y & o Rrarer 3 yerER 3 A
LT T § Al JTTRY 33 rediepd a4 e
You have been called for the written test based on the online data furnished by you in the web application_If you have

wrongly entered any information in the web or you do not possess the required qualification as per our advertisement,
your candidature will be rejected.

2, qﬂmﬁﬁﬁﬁﬂwﬁm&aﬁﬁﬁmﬁaﬁmwwmmi

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. 99-UF, 80 URAT A IF G- & T A E 3 wliaw fiv 3@ 02 9 ¥

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

s SRR e 2R T o R TR 37T ST S g &

A separate OMR answer sheet with duplicate will be provided to mark the answer options.

5. Uc® U il 04 3% gt 3R Uds 71od 3caX ST UF HF FHeT ST |

Each question carries 04 marks and one mark will be deducted for each wrong answer.
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1.

12.

13,

14.

15.

S ET¢ B 3 AR weet-gieaer Avl Fs (wEHEVS). SITANR Sl JiEge IR v T I

o= =nfgu]
Question booklet series code (A/BIC/ID/E) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.

ST TRt 7 T AT FUT JFefehatich Ter fordd |
Enter your Name and Roll Number correctly in the question booklet.

WMW-Wﬁmﬁqﬁmﬁmmﬁahmﬁaﬁﬁﬁmml
All entries in the OMR answer sheet should be with blue/black ball point pen only.

WWWWW?WHWW#WWWW#@WI

The questions will be objective type with four options out of which only one will be unambiguously correct.

3T, SecR-IRecT & T 7T Jregeelt & SaR, Arell/HTel T & SieT 5T I F NTHIN Seek-
fecreT 2% Tt aifaer ¥ 3ifRe HX WA See B T FEAT S

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

U U & AT 34 I el HTAT ST |

Multiple answers for a question will be regarded as wrong answer.

k. Al EIGK: | STeeft

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall.

orteT ot 21T O, INTAHR, SecR g B IR & das fies & w1 A HT AN SecR-gfedw
fordiaren it o el ufdt 3rash 9 T |

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you.

sret-gfecent 3r5rf 379t o 1@ Hehdt B

The question booklet can be retained by the candidates.

g0 & 21 B & gl 3rsa it o odiaT gier oige T AT AR ¢

Candidates are not pemitted to leave the examination hall during the first hour of the examination.
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REGIRC GO SolFel Toel — 1299/Technician-B - Electroplater — 1299

H-dR AT 3{\-@% ar frad AT &/Earth wire or ground wire is made of

(a) dmE/Copper
(b) TAATTIH/Aluminum
(c) <T&l/Iron

(d) 3rTaeTs sTATA/Galvanized steel

AL GIREIEIGGIED ﬁg HIT-TT /Melting point of pure Iron is

() 1363 °C
(b) 1538°C
(c) 1601°C
(d) 1353 °C

fArfaf@a # ¥ Fif3s awE ufkar sia-a &2
Which one of the following is a mechanical cleaning process
(2) @IEsT/Tumbling

(b) IFFEITARA/Pickling

(¢) dr~q ﬁﬁ%ﬂ'fvapour degreasing

(d) ﬁ?{{lj?—l’ 'H'%'I?/-Electro cleaning

Fraaa AT R FT AT J9AHET ThdeT &7

The normal temperature of average human body is

(o) L3 °F
(b) 37°C
¢y 3%

(d) 3":!'4_1?& H & @IS AZ1/None of the above

Transmission line insulators are made of
(a) TeIrH/Glass

(b) TS/ Porcelain

(c) &8l Iron

(@ drargeve
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10.

3Feg g (faegs) &1

(a)
(b)
(©)
(d)

7
10
3
14

AT frger ﬁfl'&ﬁﬂ?g %‘/Bronze is an alloy of

(2)
®)
(©)
(d

drar gur f¢sT/Copper and Tin

dreT Jar S¥UTd/Copper and Steel

grarT dUT YRT/Copper and Mercury

ateT aur Eﬂ‘jﬁﬁW/Copper and Aluminium

Standard temperature and pressure refers to:

(a)
®)
©
@

0 atm and/dAdT 273 K

1 atm and/dAT 273 K

101.325 kPa and/dT 0 K

B'Q??T-f # & 15 Ad/None of the above

mﬂwmﬁ,w,mm@aﬁﬁaﬁraﬁmm%i

The accuracy of micrometers, calipers, dial indicators can be checked by a

@

(b)
(©
(d)

?iaa?ﬁ TAT/feeler gauge
aferael gadl/slip gauge
T YA /ring gauge
TeleT UHAT/plug gauge

oo @1 gad fader EENEdD Fl7-AT ¥/Most poisonous pollutant in water is

(a)
(b)
©
(@

ﬁE/Zinc

GIa%he/Phosphate

3T A/ Arsenic

Flaa AlArFaEss(E3M)/Carbon monoxide

4

pH & Hehdl &/An acidic solution could have a pH of

1299/16



11,

12.

13.

14.

15.

S TR Fr Bl &1 HROT AAT ST &
Holes in the ozone layer are thought to have been caused by:

(a) 3TITY&T 31=a9UT/Space exploration
(b) HITHHCFC
(c) FHrAF/Methane

(d) e STEHTFAEIEE/Carbon dioxide

EIRCIGED @I?T, & aH G A I A %Y/Galvanic cells are also named as

(a) aﬂ:{lff Hel/Electrolytic cells
(b) ST Te/Battery cells

(c) Sfader de/Daniel cells

(d) St Fel/Thon cells

@ T —— & & F AT ST AT §/A Rivet gun, also known as

(a) Foial &#X/Sledge hammer

(b) H‘:ﬁ'ﬁa? §#¢/Pneumatic hammer
(c) FAT g8 /Claw haminer

(d) dIeT g8 /Copper hammer

fega/seci=E Aesta & T Fad AT dR W 9gFd Alost FleA-ar 52
Most commonly used solder for electrical /electronic soldering is

(a) 8 37% adT & 63%/Lead 37% and Tin 63%

(b) o8 50% AT & 50%/Lead 50% and Tin 50%

(c) ©8 63% TUT & 37%/Lead 63% and Tin 37%

(d) oS 70% 4T f&T 30% /Lead 70% and Tin 30%

FORAT T TIY eaas 0 fFFE e & 82
Which abrasive has the highest degree of hardness?

(@ $RSA/Corundum

() fafdea FESs/Silicon carbide
(c) SR ATSCIE3/Boron nitride

(d) &RI/Diamond

5 1299/16



16.

17.

18.

19.

TS UT] & 38F oaUT § dogdhd Bl F el & & e gid # faggd anr aia
o Fr fafer & &g Bl

The method by which a metal is recovered from a dilute solution of its salts by passing an electric
current through the solution is called

(a) ﬁa}gﬁ fAeT/Electro-winning
(b) ﬁag:;r-mmﬁa; FMfAT/Electro-chemical machining
(c) ﬁ?ﬂﬁ'—m fS¥&TquT/Electro-phoretic deposition

(d) ﬁa:{la?l' HTFHIOT/Electrolytic oxidation

ST F e At @ i, TEafas ak | ae & v s siErdse
& AT FT GfEed ®9 gl

The amount of oxygen required to chemically oxidize organic compounds in water is abbreviated as
(a COD

(b) PPM

8y PVD

(d) HCOF

IRTsfET T , ufRar ¥, forad e dlg & Ws @ ddeg W aRie fauRa
gIem B

Boriding is a ‘ process in which boron diffuses into the surface zone of a ferrous work
piece

(@) TS YRUTH/Chemical conversion

(b) I35 F3A/Case hardening

(©) ﬁ@—m fA&IquT/Electro-phoretic deposition
(@ TEEfE® arsg fHeY9UT/Chemical vapour deposition

wﬁm(@)ﬁwmmﬁwfmmﬁmﬁﬁm
& ¥ H AT ST B
A process of removing mill scales and oxide scales by dipping in a suitable acid is known as

(a) TaTAg=I/Degreasing

(by 3cdTd 3H9=TI=A/Deburring
(c) Q:i'eg';\"UT/ Sealing

(d) FATUR/Pickling

6 1299/16



20.

21.

22,

23.

Ao wifdsr # e vfas &1 w3

In Nickel plating boric acid is used as

& &7 & forar Sar g

(a) &%Y/Buffer

(b) ToRIe/Inhibitor

(c) HUTRT FRH(Tsic)/Reducing agent

(d) TTFAHUT RSP (TIT)/Complexing agent
I T AT, AT Th Celfcdl 91T & HYlg W giar gl
gas is normally liberated at the cathode of a plating bath

(a) BT33I=T/Hydrogen

(b) FAIMA/Chlorine

(c) H\mﬂ/()xygen _

(&) FREA aéaﬁa—wsg/cmoﬁ dioxide

o faEsler weg fFe YR & AT 3eieit & wter far Srer §?

The term ‘Zero Discharge’ is used in manufacturing industry, wherein

(a) STgT ﬁé‘ geref T 9=t E]Eﬂ?T STeI foRaT ST §/No material is reused
(b) T8l Fis AT Yerel T TANT AT RAT ST 8/No hazardous material is used
(c) STgl FIg IfgHd 18T giar &/No effluent is let out
(d) T8I FI5 gRA 3cUIg HT 3c9eA w6l aidl 8/No green product is produced
oIaFH H oo et o1 fFHT &
In a metallurgy .“Keller’s Reagent” is a mixture of
(@) i ofls, TowaRe Tl Tur gEsiFRe s
Nitric acid, Sulphuric acid and Hydrofluoric acid
(b) FEREARE TS, FHE RS U FEIERE TS
Hydrochloric acid, Chromic acid and Hydrofluoric acid .
() ERE viE, FegediRe Uvhs aur geairRs® s
Nitric acid, Hydrochloric acid and Hydrofluoric acid
) EEAFIRS TR, gEgeaiRe e aur wawiE e

Hydrofluoric acid, Hydrochloric acid and Phosphoric acid
T
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24.

28.

26.

2T

28.

ATecter feT-fohed @ Gl /Nital is a solution of

(a) UeHeldl adl TeFIN TRs/Alcohol and sulphuric acid

(b) TcHgld AUl FEgFalRs 8=/ Alcohol and Hydrochloric acid

() @SSl TS adT a1sf® wi@s/Hydrochloric acid and Nitric acid
(d) TewFEd auT A3 TRAS/Alcohol and Nitric acid

ey I SEUTG T HORAT DT ITEG TS ST gl
Depth of hardness of steel is increased by addition of

(a) fe¥ohct/Nickel

(b) TITECA/Tungsten

(c) ITAIH/Chromium

(d) dATSIA/Vanadium

ﬁmﬁﬁ?ﬁﬁﬁmiﬁm@ﬁﬁﬂ%@ﬁﬂﬁﬁ
Which of the following alloys does not contain tin

(a) Tedrse/Stellite

(b) TSI €cl/Fusible metal

(c) Treat UsfAtedl/Solder admiralty

(d) 3T YTId/Gun metal

mﬁW%ﬂﬁﬂKﬁaﬁ%ﬁtﬁgﬁ%ﬁﬁamwwmm
A piece of copper is cooled from the room temperature 303 K to 77K

(a) ‘;Iﬁ:mﬂ S¢ar &/The resistance increases

(b) Gfa=Ier gcar &/The resistance decreases

(c) wfaer rqiafda T&ar §/The resistance remains same

d 37'”3( T ﬁé’ #gi/None of these

o A, e & Fifas iRy, e gfauy 87

In a D.C generator the critical resistance refers to the resistance of
(a) ST/Brushes

(b) 3T/ Armature

(c) WhIes/Field

(d) #/Load

1299/16



28,

30.

3.

8z,

33,

U I3 qaE H ¥ WS A i R &1 AfX & Wt & s o g 34 ¥
37 Y THTT I T FqT §?

A large magnet is broken into two pieces. If the length of the two pieces are in the ratio of 3:4, what
is the ratio of their pole strength

(2)
()
(©)
(d)

fArAfafEd daut 7 & fFas gart carfas gfderer $r ofemy & s

554

W =

3
01
2

Acoustic impedance is defined by which of the following relations?

(2)
(b)
©
(d)

A Helcd/dI3TGES/Material density/wavelength
ATHIAT "elca X daT/Material density x velocity

d91/ aETEEd/Velocity/wavelength

A9 x dWEEL/Velocity x wavelength

ford faega aRoy & faegd urr 71d w&om

Which electrical circuit will have no current?

(a) ©E 9fRT20/A short circuit

(b) faga gRT™WAn open circuit

(©) tj'\Usi' IRTY/A complete circuit

(d) dg gRT2/A closed circuit

ija?Qilﬂal Cal uﬁz &/Magnetic permelability has units as
(a) éFﬂ[/Tesla

(b) &= 0/Henry

(c) TTE/FHe/Tesla/m

@ & HMeYHenry/m

gsa-dad &1 SI gfiee

(2)
(b)
(©
(d

&/The unit of surface tension in SI is

Nm
N'lm
Nm
Nt !

1299/16



33.

36.

37

38.

ﬁmﬁ%aamﬁ(aﬁ)ﬁﬁmqﬁﬁawﬁmmwﬁ

Which of the following wires has the greatest cross-sectional area?

(2)
(b)
©
(d)

9 AWG

14 AWG
22 AWG
30 AWG

100 AESFr arc # fFdaT are g/How many watts are in 100 microwatts?

(a)
(b)
(©)
(@

0.0001 dTc/watts
0.001 dic/watts
0.01 aTc/watts

10 nano dT&/watts

Prfafaa § ¥ frger anfPas #R 92 87
Which of the following has molecular weight of 92

(a)
(b)
(©)
CY

IS TAT FARIGE & FH0T A

SeTail/Benzene
YTUsI/Propane

E\fﬂ‘éﬂ/Toluene
ArdsT/Methane

A mixture of Benzene and Chloroform is separated by

(2)
(b)
(©
(d)

FedUTdst/Sublimation
JqcheT TheTel/Separation funnel
feREealeniuT/Crystallization

HTHIA/Distillation

Ve I ©/The aqua regia is

@
(b)
(©)
(d

3 HNOs(conc.) + 1 HCI (conc.)
3 HCI (conc.) + 1 HNO; (conc.)
HNO;5 (conc.) + H,SO4(conc.)
HNO3s(conc.) + HCl (conc.)

10

ZaRT 39T foRar ST €l
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40.

41.

42.

IRT suATE fr feer RuiRa &= F v gfevrsa Fae o 9Rky fFas R

The right hand rule for determining the direction of the induced EMF was introduced by

(a)
(b)
(©)
(d)

EESY araday
F\-la-_qf/Lenz
FATHI/F leming
Haadel/ Maxwell

2.3

shifeh dTYATH, TS 8eh S0 elgdashid Gery, 391 Yaehi 0T 7S¢ AT §, 96 ———

2

& T H FAT AT ¢

The critical temperature above which the ferromagnetic materials lose their magnetic property is

known as

(a) AfTST/Hysteresis

(b) I faeeehdie/Curie point

(c) THHAUT JATAT/Transition temperature

(d)

HAlelsh dT9HT/Standard temperature

ﬁmﬁﬁaﬁﬁﬁmmwmmaﬁ@

Which of the following is not an acidic salt?

(a)
(b)
©
(d)

Rt ardswar & e

(2)
(b)
(©)
(d)

SfehaT AI81/Baking soda

ANATH FEARTSS/Ammonium chloride
$ITT Hethe/Copper sulphate
IAETH FI'I??E'/Ammonium nitrate

2/Unit of specific conductance is

[y

Ohm /cm
S/m
mho/m

(b) T (c) &iAI/Both (b) and (c)
11

1299/16



43.

44.

45.

46.

fohl et dca I FATHIOT e

element 18

(a) 1

(b) 2

) 0

d 3

TRTH aeHETe F FE BT ATFHEHT TEAT FA &2
What is the oxidation number of Carbon in Sodium bicarbonate?
(a) +6

by 42

&) -3

(d +4

e & ﬁ?’ﬂg%l/“Coulom ” is the unit of

(a) yfeRiere/Resistance
(b) A TS/Electric charge

(c) TeTaTdUPotential difference

(d)

HT/Current

gIaT &/Oxidation state of any free

*WW%%ﬁﬁ@ﬁ%ﬁ?mﬁmmﬁ@ﬂm
maﬁm%a@m?ﬂaw%

to the voltage across it.

(@)
(b)
©
(d)

FHeAlH/Coulomb’s
SiIel/Boyle’s
T2 /Faraday’s

3H/Ohm’s
12

law states that the current through a conductor between two points is directly proportional

1299/16



47.

48.

49.

50.

Solfaradl IfAas waféer 6 woRar qea o )
The hardness value of Engineering Chromium plating is in the range of

(a) 1000-1200 MHV
(b)  700-900 MHV
(c)  400-600 MHV
(d) 500-700 MHV

faeg -t felas gart erg-aue 6 #Hers 1 AR & & v sgwa [,
& T H AT AT

The method used for determining the thickness of metallic coating by electro-chemical stripping is
known as

(2) FPRIFSHIT GAEIT/Corrodekote test
(b) FeltATEH TETOT/Coulometric test
(c) HaX YRT YETUT/Eddy current test
(d) &SI dleedr qﬁ'&TUT/Breakdown voltage test

g ea fAeed i # geaa: FFwa & oy o T ar
ST & |
In Electro-less Nickel Plating, normally also gets co-deposited along with Nickel."

(a) "eWw/Sulphur

(b) FT/Carbon

(c) PIEHIT/Phosphorus
(d) fS®/Zinc

STer T & fare Rty &7 ST R S ¥, vt wig i e
ﬁmﬂmﬁw;wa{%&mﬁwﬁaﬁﬁaﬁmm@dg@ﬁﬁwdﬁdm aiia grar
gl

method is used for water purification, in which when pressure is applied to a concentrated
leach solution, water passes from the concentrated to the diluted solution through a semi-permeable
membrane.

(a) T&HET/Coagulation
(b) 3T fafAdT/Ton Exchange
(c) ccshH HUITHIUT/Reverse Osmosis

(d) YUEIT fafRroT/Ultraviolet radiation
13 1299/16



3k

52.

33

wﬁaﬁﬁaﬁ%%uqﬁma%awmmmt%mmmmmmw
aﬁrqﬁﬂmaﬂ?‘fzﬂm%aﬁ%mﬂmﬁaﬂm%%@ & &1
mﬁmmél

method is used to modify mechanical property of the metal by impacting its surface
using round metallic particles with force sufficient to create dimples.

(a) 9iie dIaL0T/Shot peening

(b) aileeT/Tumbling
(c) IcehIvTa/Etching
(d) YReTsI/Cladding

mmma@-ﬁmﬁﬁ%wﬁmﬁl

is a plating defect in which crystalline shape is produced by skeletal growth,

resulting in forming many branches in metal deposit.
(a) fafear/Pitting

(b) ST Ud/Bare patches

(c) afer W/Treeing effect

(d) <afera f@aT9/Burnt deposit

qﬂmﬁaﬁﬁﬁ%qﬁmﬁﬁmﬁmsﬁtwﬁaﬁamaﬁmquﬁﬁm
#F fPcusd F T g &l

The ratio of the amount of metal actually deposited to the theoretical amount calculated, expressed

in percentage is
(a) %S gaTdl/Cathode efficiency
(b) TaeFIURT ueicd/Current density
(c) 3MAf&Is Telcd/Specific gravity

(d) UVArS g&Tdl/Anode efficiency

14 1299/16



54.

55.

56.

a7,

FsHT FER fAede & fov T 3emor gl
is an example of thermal spray coating
(a) TIAIHIUG faelgs/HVOF coating
(b) FIfS9T/Cladding
() Solael-BRIeH faeldsi/Electro-phoretic coating
(@ @EEEICVD
PIfATA calfeer # HT G Th VAE AU & §9 A fohar Svar g
is used as anode material in chromium plating
(@) HITEITH/Chromium
(b) T&/Tin
©) SRIfAA-A8/Chromium-Lead
(d) ﬁé—ﬁﬁﬂﬁ/Lead-Antimony
SIGEEI ﬁaj{lff-w AT g/Electro-forming of : metal is
possible
(a) UelAHIA/Aluminium
(b) TAFRa/Nickel
(©) mm/Cadmimn
(@ f&=/Tin
faeiae & & fav drer dehex Y &1 wer o arar 2
Beta Backscatter method is used for of coating
(a) 'Hﬁ'c."é @l HMYeT/Thickness measurement
(b) 3T 91879T/Adhesion tesﬁng
(c) FeTROT gy H\W/Corrosiqn resistance evaluation
(d) FORAT FT ATYA/Hardness measurement
15 1299/16




58.

59.

60.

61,

Waﬂgwq&mm@wﬁéﬁmzmaﬁmmﬁuﬁ?ﬁmﬁﬂm
¢l

_ is the application of adherent metallic coatings by embedding finely divided metal
particles on a surface

(a) Fli391/Cladding

(b) ifye e/ Mechanical plating
(¢) faeRor wiféarDiffusion plating
(@ fSyAsa Telfea/Immersion plating

st % Tde & w1 T R & T SgEd JE e
ofieToT gl

is a common visual test used to determine cleanliness of the surface of parts

(2) 9 TLETUN/Tape test
(b 37519 dlecal TIEToT/Breakdown voltage test

(¢) lel 975t ULIeTuT/ Water break test
(d) oauT FER GTUT/Salt spray test

is an example of sacrificial

Segeft faeraeT &1 U 3T &
coating

(@) TEE W $fATF/Cadmium on steel

(b) A W atar/Copper on Steel

(c) Fﬁ% uT diel/Silver on Copper

(d) s;tn?r oY aFe Ue/Enamel Paint on Steel

uﬂﬁ‘rﬁwwﬁaﬂam ﬁmmﬁﬁ@mmmélw

Aluminium cannot be plated from its aqueous solution because

(2) mmwwéﬁfﬂaﬂmﬁﬁw T

It has a tenacious oxide film on the surface
(b) ITE TH Jcpec UG ¥1/It is a noble metal

() IE T HcAdD RIERESIG] &1/Tt is a highly reactive metal
(d %mmﬂamﬁﬁﬁwmﬁmmh

It will form a solid solution with any substrate material

16 1299/16



62.

63.

64.

63,

66.

AT R &7 3ittgae gfa”y %H?IT %/Average resistance of human body is

(a) 100 ohms

(b) 1000 ohms
(c) 1500 ohms
(d) 1800 ohms

379 a9l & W $1F TR W 7g 89T F WA oo AfFa 2 @i
Ultimate tensile strength of mild steel by working at high strain rate will

(a) F&dr &/Increase

(b) TTAT &/Decrease

(c) &R Tedl §/Remains constant

(d) Yger sgaT ¢ 3R s T ged/First increase and then decrease

a‘%aﬁreh?rmﬁarawma1:2:3a§ma'ﬁ%aﬂr3ﬂeﬁraialé3:2:131§rmaﬁ%l
A% SR &1 Jeqara Fia-ar 2

The masses of three wires of copper are in the ratio 1 : 2 : 3 and their lengths are in the ratio 3: 2 : 1.
The ratio of their resistance

(4 27:6:1
(s B & SR80
ey 1213
(dl 32l

ﬁqﬁﬁﬁﬁﬁéwwwmmmloo%ﬁzs%wﬁmﬁ@éﬁmﬂ
fehaeTr Sieer Torg &2

How many decibels of attenuation correspond to an ultrasonic signal loss from 100% to 25% on
full screen height?

(a) 6

by 12
(c) 10
(d 14

mﬂwﬁmﬁﬁwm#méﬁmﬁm%luﬁ,mﬁleﬁgﬁw
Safe B & o, Rl v iRk @ wafee g arel R e R &

Three identical resistors are connected in parallel to a battery. If the current of 12 A flows from the
battery, how much current flows through any one of the resistors?

(@ 4A

(by 12A
(c) 36A
(d) Zero

17 1299/16



67.

68.

69.

70.

7L

0.5 ¥ (1 ¥=T =200 mg) EX F et T ey TRA 8T &7

How many atoms of Carbon are there in 0.5 carat diamond (1 carat = 200 mg)

(@) 6203 x107%

(b) 6.203 x 10%

(c) 5.02x10%

(d) None of the above

1.00guaﬁrﬁaﬂ(m)$rmﬁﬁmm§ﬁqﬁaﬁaaﬂﬁ$ﬁvmﬁmm%?
How many Faradays are required to reduce 1.00 g of aluminum (IIT) to the aluminum metal?

(@ 1.00
(b) 1.50
() 3.00
(@) 0.111

R, 1§ 96500 FHellH F TSI 60230 FellA QAT ¥ A, T GGl FI IMAA(I)

If 1 Faraday was to be 60230 coulombs instead of 96500 coulombs, what will be the charge of an
electron?

@Gy 1x1070
(b) 6.023x1072C
@ Ix16°C
(@ 6.023x10°C

“§235]0” AT SEATT 3 235 AT FAT FRIT HAT 87

What does the value 235 stand for in the steel designation “S235J077
(@) HR/Weight

(b) - WRTHAT HIAZA/Yield strength

(c) TIHSIA/Toughness

(d) dder ATFd/Tensile strength

a8 TS O F REee F R ia-ar aer @@ &2

During discharge of lead storage battery which statement is true?

(@) ©oF Tewe gedl &/Lead sulphate is formed

(b) o2 §aT &/ Lead is formed

(¢) H,SO4 ST 8/H,S0; is formed

(d) ﬁaﬂﬂ' IqIesT Ao & ®T H PRI dar g/lt acts as electrolytic cell
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7.

73.

74.

78,

3 SUNcHAS SAFCs, F TAY9aT & faT ga@er Far Jrar gl
Ton Selective Electrode is used for the measurement of
(a) UH FoiT o & I3 duaie
Ton concentration in an aqueous solution
(b) T SolFarcaiesT d & fAaiqor faea
Deposition potential of an electroplating bath
(©) TEHT FaEee W IR [ $r Al
Thickness of non-conductive coating on conductive substrate
(@ g wafér 7 g &1 a3t
Composition of coating in alloy plating
us dfar dfd Geeee W WY A F1 Aegd AT A R FA Fem?
If gold is plated directly on a copper plated substrate,
(a) ®= 3R e Hr gfAfear ¥ v FEAA & S §
Gold and copper react to form a compound
(b) TS & T & FiAT Sielm AT
Gold will peel off from copper plate
() TeET ¥ Wiel & Iry dlar o, Siem Sreem|
Copper along with the gold will peel off from the substrate
@ 2 arge AR T 3 faeld §F S|
Two metals will form a solid solution
T faeldsT & T F Hedide & AU S TETT Fay ST gAwer fRar
ST & |
Thermal Shock Chamber is used to evaluate property of a coating.
(a) FSART TTeTehdl/Thermal conductivity
(b) TETRUT 9farel/Corrosion resistance
() FSHY fAEarRoT ?_'DI'Ul'i'q?/Coefﬁcient of thermal expansion
(d) 3THsT=/Adhesion
3T 4 cm AT TR FAST FHIOT HT &1l Fhcall &7
The area of an equilateral triangle having side of 4 cm is?
@ 3
(b) 83
(c) 16
@ V3
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76.

Tk

78.

79.

80.

A a=10 AR 2-b*=36 & dI, b F T Hed e &7
If a =10 and a®~ b*= 36, then the possible value of b is

@ 7

by -7

(c) 8
(d o6

3R 2m $T a0 &91 (FFaAR) o 3HeX 1 m oIl 1 g I@T A1l & ot AT @redy
&P fehc= BIam? :
A Circle of radius 1 m is placed inside a Square of side 2 m. Find the area left unoccupied?

(@ 0.86m’
(b) 0.84m?
() 1m?
(d 0.9m’

T& T 300m TS F CACHEH Pl 18 Ahal F UR &l g1 ¢f Fr 3adet il foheeir
&7
A train crosses a platform of length 300m in 18 seconds. What is the average speed of the train?

(@) 60 km/hr
(b) 30 km/hr
(€) 54 km/hr
(d) 6km/hr

40 &1 fohaar ufaera 10 §2/What % of 40 is 10?

) 40%
(b) 30%
© 25%
d)  10%

TH BT F & 3aRE Hr 60 Bl 3R 32 3 §1 sHewr fer AR o
gl
Two interior angles of a triangle are 60 deg and 32 deg. Its third interior angle is
(@) 92 deg/f3alt
(b) 88 deg/fSal
(c) 30 deg/f3al
(d) 58 deg/f3alt
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